Antwoorden

100 cm   = 1 m
20 dam   =  200 m
5,5 dm    = 550 cm
4,25 m    = 425 cm
2,75 hm  = 27,5 dam
50 cm      = 5 dm
9,7 m       = 0,97 dam
0,75 mm = 0,075 cm
120 dm   = 1,2 dam
4,5 hm   = 0,45 km
 
2 m         = 20 dm
35 cm     = 350 mm
4 dam    = 40 m
8,67 m   = 867 cm
965 mm = 96,5 dm
5,45 dm = 0,0545 dam
2,87 km = 28,7 dam
3,4 dam = 0,34 hm
2 dm       = 0,002 hm
2 hm       = 20 000 dm
 
4,56 km      = 456 000 m
9,854 dam   = 98 5400 cm
76 cm          = 0,0076 hm
3,9 m           = 0,0039 km
5,67 hm      = 5670 dm
5 cm            = 0,0005 hm
0,075 km    = 750 dm
7,6 m          = 760 cm
2 dam         = 0,2 km
2 dm           = 0,002 hm
 
Oppervlakte
 
2 cm2           = 0,02 mm2
5,5 hm2       = 0,55 dam2
5 dm2           = 0,05 m2
9,9 cm2        = 0,00099 m2
5,5 km2        = 550 dam2
2 mm2          = 0,0000002 m2
0,078 hm2   = 7,8 dam2
288 dm2      = 2880000 mm2
0,0055 km2 = 55 dam2
9,99 m2        = 999 hm2
 
 
Tijd (rond af op 2 getallen achter de komma)
[bookmark: _GoBack]1 h          = 60 min
120 min = 2 h
3600 s    = 1h
25 min   = 0,42 h
31 h        = 111600 s
2 dagen      = 2880 min
1 week        = 604800 h
3 maanden = 0,25 jaar
0,25 week   = 2520 min
 
1 s                =  dag (schrijf op als breuk)

